Torana 253/308 Compressor Mount

©Autoware 11/24 Torana 253-308 1



OTIAI00E
005
AAE

-
L%
%
=2
L]
13
1]

it

)

T T A=
e

nra

29452075
2180808
ey

? ,;;t;.;-_xm‘m'ny., b

Top Compressor Bracket

Bottom Compressor Bracket

3/8 UNC, 1 1/4 Bolts with 13mm Spacers
5/16, 1 3/4 Bolt with nutlock

M8, 20mm bolts

5/16 bolts into timing case, spacers placed behind bracket.

Top spacer 17mm with 2.5 inch bolt. Bottom spacer
25mm with 2 3/4 bolt

7. 11A1005 Belt (Supplied)

Note; Requires Commodore VN-VS V8 3 Row Crank
Pulley, use the inner 1st Row

AN o

©Autoware 11/24 Torana 253-308



	Blank Page
	Blank Page



